ST Department of Administration
83 12 R Lo

) G Purchasing Division

2019 Washington Street East
Post Office Box 50130

Charleston, WV 25305-0130

State of West Virginia
Solicitation Response

Proc Folder: 1461928

Solicitation Description: Square Tube Sign Supports

Proc Type: Agency Master Agreement
Solicitation Closes Solicitation Response Version
2024-10-08 10:30 SR 0803 ESR10082400000002428 1

VENDOR

000000197799
KORMAN SIGNS INC

Solicitation Number: ARFQ 0803 DOT2500000015
Total Bid: 123927 Response Date: 2024-10-08
Comments:

Response Time:

08:22:16

FOR INFORMATION CONTACT THE BUYER
Jeromie F Lanham

304-720-7383

jeromie.f.lanham@wv.gov

Vendor
Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: ~ Oct 8, 2024

Page: 1

FORM ID: WV-PRC-SR-001 2020/05




Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
1 2" x 2" x 10'-14 gauge square pre-punched 700.0000C EA 30.180000 21126.00
on all 4 sides

Comm Code

Manufacturer Specification
30102900

Model #

Commodity Line Comments:

Extended Description:

2" x 2" x 10'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
2 2" x 2" x 12'-14 gauge square pre-punched 600.0000C EA 35.080000 21048.00
on all 4 sides
Comm Code Manufacturer Specification Model #
30102900
Commodity Line Comments:
Extended Description:
2" x 2" x 12'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole
Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
3 2" x 2" x 14'-14 gauge square pre-punched 50.00000 EA 38.980000 1949.00
on all 4 sides
Comm Code Manufacturer Specification Model #
30102900
Commodity Line Comments:
Extended Description:
2" x 2" x 14'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole
Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
4 1.75" x 1" x 14' -14 gauge square pre- 50.00000 EA 35.400000 1770.00
punched on all 4 side

Comm Code

Manufacturer Specification
30102900

Model #

Commodity Line Comments:

Extended Description:

1.75" x 1" x 14' -14 gauge square pre-punched on all 4 side on all 4 sides, 1" center to center, 3/8" hole

Line Comm Ln Desc

Qty Unit Issue Unit Price
5

Ln Total Or Contract Amount

2.25"x 2.25" x 36" 14 gauge square pre-

1200.000C EA
punched on all 4

13.980000

16776.00

Comm Code

Manufacturer Specification
30102900

Model #

Commodity Line Comments:

Extended Description:

2.25" x 2.25" x 36" 14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Date Printed:  Oct 8, 2024 Page: 2

FORM ID: WV-PRC-SR-001 2020/05




Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
6 8" triangular multi-directional slip base top for 10.00000 EA 62.900000 629.00
2 1/2" squ
Comm Code Manufacturer Specification Model #
31160000

Commodity Line Comments:

Extended Description:

8" triangular slip base top half for 2 1/2" square post-tubular post receiver-Triangular Multi-Directional Slip Base Component

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
7 3/8" x 3 1/2" grade 8 flanged shoulder bolt 300.0000C EA 1.160000 348.00
for tubular sty
Comm Code Manufacturer Specification Model #
31160000

Commodity Line Comments:

Extended Description:

3/8" x 31/2" grade 8 flanged shoulder bolt for tubular style post receivers and slip base bottom halves-Assembly Replacement Hardware

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
8 3/8"- 16 flange nut case hardened 300.0000C EA 0.100000 30.00

Comm Code Manufacturer Specification Model #

31160000

Commodity Line Comments:
Extended Description:

3/8"- 16 flange nut case hardened- Assembly Replacement Hardware

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
9 SS "L" shaped banding bracket assy. with 100.0000C EA 6.600000 660.00
hardware
Comm Code Manufacturer Specification Model #
31160000

Commodity Line Comments:

Extended Description:

SS "L" shaped banding bracket assy. with hardware- Stainless Steel Banding and Brackets

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
10 Flared leg bracket with bolt and washer 100.0000C EA 5.060000 506.00

Comm Code Manufacturer Specification Model #

31160000

Commodity Line Comments:
Extended Description:

Flared leg bracket with bolt and washer-Stainless Steel Banding and Brackets

Date Printed: ~ Oct 8, 2024

Page: 3 FORM ID: WV-PRC-SR-001 2020/05




Line Comm Ln Desc Qty

Unit Issue Unit Price

Ln Total Or Contract Amount

11 2 1/2" x 36" Solid Tele-spar Installation 1000.000C EA 28.960000

28960.00

Comm Code Manufacturer Specification

Model #

30102900

Commodity Line Comments:
Extended Description:
2 1/2" x 36" Solid Tele-spar Installation-Heavy Duty Anchors

Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
12 2 1/2" x 36" Angle Tele-spar Installation 1000.000C EA 29.800000 29800.00
Comm Code Manufacturer Specification Model #
30102900
Commodity Line Comments:
Extended Description:
2 1/2" x 36" Angle Tele-spar Installation-Heavy Duty Anchors
Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
13 5/16" medium corner bolt through 2 1/2" post 500.0000C EA 0.510000 255.00
Comm Code Manufacturer Specification Model #
31160000
Commodity Line Comments:
Extended Description:
5/16" medium corner bolt through 2 1/2" post
Line Comm Ln Desc Qty Unit Issue Unit Price Ln Total Or Contract Amount
14 5/16" flange nut used with corner bolts 500.0000C EA 0.140000 70.00

Comm Code Manufacturer Specification

Model #

31160000

Commodity Line Comments:
Extended Description:
5/16" flange nut used with corner bolts

Date Printed:  Oct 8, 2024 Page: 4

FORM ID: WV-PRC-SR-001 2020/05




Exhibit A

2500000003

N:xt:lr:er Quantity ‘\:::;Z::e Description Unit Price E:::::f
" " { : n $ )

1 700.000 Each 2" x 2" x 10"- 14 Gauge Squ:;ﬁt:;eé?q'ngg;d on all 4 sides, 1" center to 018 21.126.00
" " ' H " $ )

2 600.000 Each 2"x 2" x 12'- 14 Gauge Squca:tz:le:;;/)ulpggleed on all 4 sides, 1" center to 35.08 21,048.00
" " ' H ] $ )

3 50.000 Each 2" x 2" x 14'- 14 Gauge Squ:ert:t:rrle;;n{'nﬁg;d on all 4 sides, 1" center to 38.98 1,949.00
g " 1 H n $ )

4 50.000 Each 1.76" x 1.75" x 14'- 11(1: e('i‘:;\:?teo ch:?;i I;/re':;:;?:hed on all 4 sides, 1 35.40 1 770.00
gl " " : " $ )

5 1200.000 Each 2.25" x 2.25" x 36"- 1i ;::eurg; ig:gﬁ g/re;;::::hed on all 4 sides, 1 13.98 16,776.00
3 -

6 10.000 Each 8" triangular multi-directional slip base top for 2 1/2" square post-

tubular post receiver-Triangular Multi-Directional Slip Base Component 62.90 629.00
" n $ )
T 000 || i bee bottom naves Assemly eplacement ardware| 116 | 34800
$ -
8 300.000 Each 3/8"-16 flange nut case hardened-Assempbly Replacement Hardware 10 30.00




SS "L" shaped banding bracket assy. With hardware-Stainless Steel

S 100.000 Each Banding and Bracket 6.60 660.00
$ N
10 100.000 Each Flared leg bracket with bolt and washer-Stainless Steel Brackets 5.06 506.00
$ -
11 1000.000 |  Each 2 1/2" x 36" Solid Wall-7 Guage-Heavy Duty Anchors 28.98 28,960.00
$ -
12 1000.000 Each 21/2" x 36" Angle quick drive-7 Guage Anchors 29.80 29.800.00
3 -
13 500.000 Each 5/16" medium corner bolt through 2 1/2" post o1 255.00
14 \ )
14 500.000 Each 5/16" flange nut used with corner bolts | 70.00

$123,927




SOLICITATION NUMBER ; ARFQ DOT2500000015
Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as
(“Solicitation”) to reflect the change(s) identified and described below.

Applicable Addendum Category:
| ] Modify bid opening date and time
[ 1 Modify specifications of product or service being sought
[ ] Attachment of vendor questions and responses
[ | Attachment of pre-bid sign-in sheet
[ ]| Correction of error

[ ] Other

Description of Modification to Solicitation:

ADDENDUM 1 1S ISSUED FOR THE FOLLOWING REASONS:

1. TO ATTACH RESPONSES TO QUESTIONS FROM VENDORS

2. TO ADD REVISED PRICING SHEET

3. TO UPDATE COMMODITY LINES TO REFLECT REVISED PRICING SHEET

NO OTHER CHANGES

Additional Documentation: Documentation related to this Addendum (if any) has been
included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

1. All provisions of the Solicitation and other addenda not modified herein shall remain in
full force and effect.

2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by
completing an Addendum Acknowledgment, a copy of which is included herewith.
Failure to acknowledge addenda may result in bid disqualification. The addendum
acknowledgement should be submitted with the bid to expedite document processing.

Revised 6/8/2012



ATTACHMENT A

* Revised 6/8/2012



ARFQ DOT2500000015 Square Tube Sign Supports

Responses to Questions from Vendors
Question 1

Line item 4 states 1.75” x 1” x 14’ post. Shouldn’t this be 1.75”x1.75”x14’ post?

Response 1

_Yes, this should be 1.75” x 1.75” x 14’ post, this was mistyped on the cost sheet.

Question 2

Line item 11 calls for Solid Tele-spar and Line item 12 calls for Angle Tele-Spar Heavy
Duty Anchors. For clarification does the attached drawing represent the items you are
requesting?

Response 2

Yes, the pictures are correct

Question 3

I noticed that in the Exhibit B pictures you show a 5/16” Corner Bolt with 5/16” Flanged
Nut, but | did not see those items included on the line-item pages. Was it your intent to
have those items included?

Response 3

Yes, | have added to the cost sheet, and it will be attached



Question 2

7 GUAGE SQUARE TUBE ANCHORS

DATE: 2-4-19

QUICK. DRIVE 7gauge ANCHOR.
e
053 —/
IL-‘* jra
LENGTH ~/

- A

4.

SCLID WALL 7-gauge HEAVY DUTY ANCHOR

wall
0.75° J Ih— hi

oD Gauge Wall Weight per fool | Anchor Type
2.50" Tga 0.18" 468 # QDA
250" | 7ga 0.19" 5.54 4 HDA

General Specification

* Solid wall square steel tube anchors shali be ASTM A-500 Grade BIC steel tube with
minimum yield strength of 46,000 psi after tube is formed.

* Anchors shall contain two 17/32 inch diameter holes spaced at 1 inch apart with the first
hale being spaced 3/4 inch frem the end of the lube on all four sides.

* Quick Drive Achors must have a 12 inch section of solid wall square tube thatis 3/16" x 2"
stitch welded al top and bottom of tube and angle on both sides. It must also contain a
3/16" fitet weid on entire perimeter of tube and angle. Quick Drive Anchor angle must be
ASTM AJ6 structural steel

* Anchors shall be hot dipped galvanized per ASTM A123.

* Solid wall square tube anchars must meet the FHWA “Made In America” clause.




ADDENDUM ACKNOWLEDGEMENT FORM
SOLICITATION NO.: ARFQ DOT2500000015

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by
completing this addendum acknowledgment form. Check the box next to each addendum
received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the
necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:
(Check the box next to each addendum received)

Addendum No. 1 [J Addendum No. 6
[] Addendum No. 2 [[] Addendum No. 7
[J Addendum No. 3 [] Addendum No. 8
[] Addendum No. 4 [ ] Addendum No. 9
[] Addendum No. 5 [] Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid.
I further understand that any verbal representation made or assumed to be made during any oral
discussion held between Vendor’s representatives and any state personnel is not binding. Only
the information issued in writing and added to the specifications by an official addendum is
binding.

Korman Signs Inc

Company

AuOmzed Stgnature E 5

10-8-24

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite
document processing. .

Revised 11/1/2022



State of West Virginia
Agency Request for Quote
Highways

Proc Folder: 1461928
Doc Description: Square Tube Sign Supports

Proc Type: Agency Master Agreement

Reason for Modification:
Addendum 1
Add Responses to Questions

Add Commodity Lines
Add Revised Pricing Sheet

Date Issued Solicitation Closes Solicitation No

Version

2024-09-30 2024-10-08  10:30 ARFQ 0803 DOT2500000015

2

BID RECEIVING LOCATION

PROCUREMENT DIVISION
DIVISION OF HIGHWAYS

BLDG 6 RM 340A

1900 KANAWHA BLVD E
CHARLESTON WV 25305
us

VENDOR

Vendor Customer Code: 000000197799

Vendor Name : Korman Signs Inc

Address : 3029 Lincoln Avenue

Street :

City : Henrico

State : Virginia Country: (g5
Principal Contact : John Murray

Vendor Contact Phone: 804-262-6050 Extension:

Zip: 93708

FOR INFORMATION CONTACT THE BUYER
Jeromie F Lanham

304-720-7383
jeromie.f.lanham@wv.gov

Vendor ;
Signature X W%’WMM | Feng 54-0993439

DATE 10-8-24

All offers subj{c}to all térms and @itions contained in this solicitation

Jate Printed: Sep 30, 2024 Page 1

FORM ID: WV-PRC-ARFQ-002 2020/05



ADDITIONAL INFORMATION

ADDENDUM 1 IS ISSUED FOR THE FOLLOWING REASONS:
1. TO ATTACH RESPONSES TO QUESTIONS FROM VENDORS
2. TO ADD REVISED PRICING SHEET
3. TO UPDATE COMMODITY LINES TO REFLECT REVISED PRICING SHEET

NO OTHER CHANGES

INVOICE TO : : = |sHIPTO:
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
1 2" x 2" x 10'-14 gauge square pre-punched on 700.00000 EA
all 4 sides 30.18 21,126.00
Comm Code Manufacturer Specification Model #
30102900
Atkore Telespar PSTS10X2GA14

Extended Description:
2" x 2" x 10'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

INVOICETO i ShibaoE. T
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG Wv LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
2 2" x 2" x 12'-14 gauge square pre-punched on 600.00000 EA
all 4 sides 35.08 21,048.00
Comm Code Manufacturer Specification Model #
30102900
Atkore Telespar PSTS12X2GA14

Extended Description:
2" x 2" x 12'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Jate Printed: Sep 30, 2024 Page 2 FORM ID: WV-PRC-ARFQ-002 2020/05



INVOICE TO _ = e * SHIP TO

DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS

DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
3 2" x 2" x 14'-14 gauge square pre-punched on 50.00000 EA
all 4 sides 38.98 1,949.00
Comm Code Manufacturer Specification Model #
30102900
atkore Telespar PSTS14X2GA14

Extended Description:
2" x 2" x 14'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

INVOICETO = | SHIRTO =
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG YWV LEWISBURG Y%
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
4 1.75" x 1" x 14' -14 gauge square pre- 50.00000 EA
punched on all 4 side 35.40 1,770.00
Comm Code Manufacturer Specification Model #
30102900
Atkore Telespar PSTS14X1.75GA14

Extended Description:
1.75" x 1" x 14' -14 gauge square pre-punched on all 4 side on all 4 sides, 1" center to center, 3/8" hole

Jate Printed: Sep 30, 2024 Page 3 FORM ID: WV-PRC-ARFQ-002 2020/05



INVOICETO , = IsHIPTO
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG wWv LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
5 2.25" x 2.25" x 36" 14 gauge square pre- 1200.00000 EA
punched on all 4 13.98 16,776.00
Comm Code Manufacturer Specification Model #
30102900
Atkore Telespar PSTS36X2.25GA12P

Extended Description:
2.25" x 2.25" x 36" 14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

INVOICETO = . _SHIPTO
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG Wv
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
6 8 tn%ngular multi-directional slip base top for 10.00000 EA 62.90 629.00
2 1/2" squ
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared PASB8-250TA-G

Extended Description:
8" triangular slip base top half for 2 1/2" square post-tubular post receiver-Triangular Multi-Directional Slip Base Component

Jate Printed: Sep 30, 2024 Page 4 FORM ID: WV-PRC-ARFQ-002 2020/05



INVOICETO : o SHIP TO

DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS

DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
7 3/8" x 3 1/2" grade 8 flanged shoulder bolt for 300.00000 EA
tubular sty 1.16 348.00
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared HFG8FSB38-35-2

Extended Description:

3/8" x 3 1/2" grade 8 flanged shoulder bolt for tubular style post receivers and slip base bottom halves-Assembly Replacement
Hardware

INVOIcETOo = @ 1 = SHIP TO
DIVISION OF HIGHWAYS DIVISION OF HIGHWAY
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
8 3/8"- 16 flange nut case hardened 300.00000 EA
.10 30.00
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared HFCHFN-Z

Extended Description:
3/8"- 16 flange nut case hardened- Assembly Replacement Hardware

Jate Printed: Sep 30, 2024 Page 5 FORM ID: WV-PRC-ARFQ-002 2020/05



INVOICETO : = SHIP TO

DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG Y LEWISBURG Wv
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
9 SS "L" shaped banding bracket assy. with 100.00000 EA
hardware 6.60 660.00
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared LBBS38A
Extended Description:
SS "L" shaped banding bracket assy. with hardware- Stainless Steel Banding and Brackets
INVOICETO . : - |SHIP TO
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG wv LEWISBURG wWv
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
10 Flared leg bracket with bolt and washer 100.00000 EA 5.06 506.00
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared X5T021

Extended Description:
Flared leg bracket with bolt and washer-Stainless Steel Banding and Brackets

Jate Printed: Sep 30, 2024 Page 6 FORM ID: WV-PRC-ARFQ-002 2020/05




INVOICETO SHIP TO

DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT

146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
11 2 1/2" x 36" Solid Tele-spar Installation 1000.00000 EA 28.96 28.960.00
Comm Code Manufacturer Specification Model #
30102900 .

XCessories Squared PSTSHDAZ200-36G

Extended Description:
2 1/2" x 36" Solid Tele-spar Installation-Heavy Duty Anchors

INVOICETO - : : ~ |sHIPTO e
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT

146 STONEHOUSE RD 331 BRUSHRD
LEWISBURG Wv LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
12 2 1/2" x 36" Angle Tele-spar Installation 1000.00000 EA

29.80 29,800.00
Comm Code Manufacturer Specification Model #
30102900

XCessories Squared POSTSQDA200-36G

Extended Description:
2 1/2" x 36" Angle Tele-spar Installation-Heavy Duty Anchors

Jate Printed: Sep 30, 2024 Page 7 FORM ID: WV-PRC-ARFQ-002 2020/05



INVOICE TO

SHIP TO

DIVISION OF HIGHWAYS

DIVISION OF HIGHWAYS

DISTRICT NINE DISTRICT NINE - STORAGE
LOT
146 STONEHOUSE RD 331 BRUSH RD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
13 5/16" medium corner bolt through 2 1/2" post  500.00000 EA 51 255.00
Comm Code Manufacturer Specification Model #
31160000
XCessories Squared HFCBEFN516ME
Extended Description:
5/16" medium corner bolt through 2 1/2" post
INVOICE TO SHIP TO =
DIVISION OF HIGHWAYS DIVISION OF HIGHWAYS
DISTRICT NINE DISTRICT NINE - STORAGE
LOT

146 STONEHOUSE RD 331 BRUSHRD
LEWISBURG WV LEWISBURG WV
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
14 5/16" flange nut used with corner bolts 500.00000 EA

.14 70.00
Comm Code Manufacturer Specification Model #
31160000

XCessories

Extended Description:
5/16" flange nut used with corner bolts
SCHEDULEOGEEVENIS = v 0 o .
Line Event Event Date
1 TECHNICIAL QUESTIONS DUE BY 10:00am EST 2024-10-01

Date Printed: Sep 30, 2024

Page 8 FORM ID: WV-PRC-ARFQ-002 2020/05






